Vocabulary

term to term rule

variable

unknown

expression

equation

formula

one-step equation

two-step equation

substitution

pairs of unknowns

enumerate
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Algebra number

sequences

A linear .number sequence is .o sequence where each wvalue increases or dwza&z&bgthzmmwttmm
Each .number in a linear number sequence is called .« term. The constant change bhetween each number is called
the term. to term rule. To identify the term to term rule, find the difference bebween the two adiacent terms.

When yow know the term to term rule, yow can wse it to find the next numher in the sequence. [t can .also be
used to find .a missing number within .a sequence.
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feliullne Forming

expressions equations

An expression is a group of numbers,

letters .and .operation symhols. a+ 14 = 20
Add 14 toa a+ 14 b-20=15 An equakion i o rumber
statement with .an equal
Subtract 20 from b b-20 4e = 28 sign (=). Expressions .on
Multiply ¢ by &4 be d+ 12 =30 either side .0f the equal
12 more than d d+12 3¢-5=10 sign are on equal yvalue.
Multiply e by 3 and subtract 5 3e-5
Add 12 to fand then multiply by 2 2(f+ 12) 2(f+ 12) = 44
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Ln an equation with tw.o unknow.n
numhbers, there may be several
possible values for the unknow.ns
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I\ab_:,is’—l 2a + b = 10
a b a b
1 18 2 6
2 9 3 4
3 6 4 2
6 3 5 0
9 2
18 1

Solving

Ways to make .a complete list on answers to a problem.
® use .a system for finding the possibilities
® organise yowur findings in .an ordered list or table
® have a way of deciding when .all possihilities have heen found

There are four
ice cream flavours.

In .algehra, missing numbers in equations .are
represented by letters. Any letter can bhe wsed
equations but ofien the letter x is used. An.algﬂbr.ai;c..x
mm.r.:tben.tclcak..d#rwin a normal 'x' to

a+4=10 | @@

Two scoops of two different flavours
give six possible combinations.

« chocolate and » strawberry
strawberry and vanilla

« chocolate and - strawberry
vanilla and mint

 chocolate and mint « vanilla and mint

The .multiplication sign is not used in
algebra to .awvoid confusing it with the
algebraic x used ko show .o missing .number.
Lrwerse operations .are wsed to isolate the

letter .on .one side of the equation.




